

Estimation of errors of signals (functions) by $(C, 2)(E, \delta)$ product means of Fourier series

Jitendra Kumar Kushwaha,* RadhaVishwakarma†

Department of Mathematics and Statistics
DeenDayalUpadhyaya Gorakhpur University
Gorakhpur- 273009, India

Abstract: -In this paper, we establish a new theorem to estimate the errors of signals (functions) $f \in Lip\{\zeta(t), r\}$ class by new $(C, 2)(E, \delta)$ product summability method.

Keywords: Signals(functions), $(C, 2)$ means, (E, δ) means, Lipschitz class and $(C, 2)(E, \delta)$ product summability method, $Lip\{\zeta(t), r\}$ class, Fourier Series.

Mathematical Classification: 42B05, 42B08

1. Introduction

Summability theory plays a very important role in the field of approximation theory. It became very interesting to find the estimate error (degree of approximation) of functions by using various product summability means. Liendler [20], Rhoades [4], Qureshi and Neha [17], Sahney and Goel [9] have determined the degree of approximation of functions belonging to Lipschitz class by Cesàro, Nörlund and generalized Nörlund (N, p, q) means. Later on Lal and Singh [7], Kushwaha [5] have studied the error estimates by trigonometric Fourier approximation of functions belonging to various Lipschitz classes by $(C, 1)(E, 1)$ and $(C, 2)(E, 1)$ product summability means respectively. Recently Nigam and Sharma [16] have determined the degree of approximation of functions belonging to $Lip\{\zeta(t), r\}$ class by using $(C, 1)(E, \delta)$ product method. But nothing seems to have been done so far to obtain the estimate of the error of signals (functions) belonging to $Lip\{\zeta(t), r\}$ class by using $(C, 2)(E, \delta)$ product summability method which have second order Cesàro means. The product of Euler means with second order Cesàro means is an advantage over the $(C, 1)(E, 1)$ and $(C, 2)(E, 1)$ product summability means. So we can say that the results of Nigam and Sharma [2] and Kushwaha [5] are the particular case of the result that we have determined.

2. Definitions and Notations

Let $\sum_{n=0}^{\infty} u_n$ be a given infinite series with $\{s_n\}$ for its n^{th} partial sum.

Let $\{t_n^{E\delta}\}$ denote the sequence of $(E, \delta) = E_n^\delta$ means of the sequence $\{s_n\}$. If the (E, δ) transform of $\{s_n\}$ is defined as

$$t_n^{E\delta}(f; x) = \frac{1}{(1 + \delta)^n} \sum_{k=0}^n \binom{n}{k} \delta^{n-k} s_k \rightarrow s \quad \text{as } n \rightarrow \infty \quad (2.1)$$

The series $\sum_{n=0}^{\infty} u_n$ is said to be summable to the number s by the (E, δ) method. (Hardy[1])

Let $\{t_n^{C_2}\}$ denote the sequence of $(C, 2) = C_n^2$ mean of the sequence $\{s_n\}$. If the $(C, 2)$ transform of s_n is defined as

$$t_n^{C_2}(f; x) = \frac{2}{(n+1)(n+2)} \sum_{k=0}^n (n-k+1) s_k(f; x) \rightarrow s \quad \text{as } n \rightarrow \infty \quad (2.2)$$

Then the series $\sum_{n=0}^{\infty} u_n$ is said to be summable to the number s by the $(C, 2)$ method. (Cesàro)

Thus if the $(C, 2)$ transform of (E, δ) transform defines $(C, 2)(E, \delta)$ transformation and denoted by $C_n^2 \cdot E_n^\delta$.

Thus if

$$t_n^{C_2 E_\delta}(f; x) = \frac{2}{(n+1)(n+2)} \left[\sum_{k=0}^n (n-k+1) \left\{ \frac{1}{(1+\delta)^k} \sum_{v=0}^k \binom{k}{v} \delta^{k-v} s_k \right\} \right] \rightarrow s \quad \text{as } n \rightarrow \infty \quad (2.3)$$

where $t_n^{C_2 E_\delta}$ denote the sequence of $C_2 E_\delta$ means that is $(C, 2)(E, \delta)$ product means of the sequence s_n . The series $\sum_{n=0}^{\infty} u_n$ is said to be summable to the number s by $(C, 2)(E, \delta)$ method. We know that $(C, 2)(E, \delta)$ method is regular.

Let f be 2π -periodic, Lebesgue integrable function on $[-\pi, \pi]$ and the Fourier series associated with $f(x)$ at a point x is defined by

$$f(x) \sim \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) = \sum_{n=0}^{\infty} A_n, \quad n \in N \quad (2.4)$$

with partial sum $s_n(f; x)$.

We use following notations through out the paper

$$\begin{aligned} \phi(t) &= f(x+t) - 2f(x) + f(x-t) \\ K_n(t) &= \frac{1}{\pi(n+1)(n+2)} \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+q)^k} \sum_{v=0}^k \binom{k}{v} q^{k-v} \frac{\sin(v+1/2)t}{\sin(t/2)} \right] \end{aligned} \quad (2.5)$$

And L_r - norm is defined by

$$\|f\|_r = \left(\int_0^{2\pi} |f(x)|^r dx \right)^{\frac{1}{r}}, \quad r \geq 1$$

and the estimation of errors which is known as degree of approximation of a function f given by Zygmund [19].

$$E_n(f) = \min \|t_n(x) - f(x)\|_r$$

where $t_n(x)$ is some n^{th} degree trigonometric polynomial. This method of approximation is called the trigonometric Fourier approximation.

A function $f \in Lip \alpha$ if

$$f(x+t) - f(x) = O(|t|^\alpha) \quad \text{for } 0 < \alpha \leq 1, \quad t > 0.$$

and function $f \in Lip(\alpha, r)$ if

$$\left(\int_0^{2\pi} |f(x+t) - f(x)|^r dx \right)^{\frac{1}{r}} = O(|t|^\alpha) \quad \text{for } 0 < \alpha \leq 1, \quad r \geq 1.$$

Given a positive increasing function $\zeta(t)$ and an integer $r \geq 1, t \in Lip\{\zeta(t), r\}$ if

$$\left(\int_0^{2\pi} |f(x+t) - f(x)|^r dx \right)^{\frac{1}{r}} = O\{\zeta(t)\}$$

If $\zeta(t) = t^\alpha$ then $Lip\{\zeta(t), r\}$ class coincides with the $Lip(\alpha, r)$ class and if $r \rightarrow \infty$ then $Lip(\alpha, r)$ class reduces to the $Lip\alpha$ class.

Kushwaha[5] has proved a theorem on approximation of function by $(C, 2)(E, 1)$ product summability method as following-

Theorem:- If $f: R \rightarrow R$ is 2π -periodic, Lebesgue integrable on $[-\pi, \pi]$ and belonging to $Lip(\alpha, r)$ class then the estimate error of signals (functions) f by the $(C, 2)(E, 1)$ product means of Fourier series of f satisfies

$$t_n^{C_2E_1}(f; x) = \frac{2}{(n+1)(n+2)} \left[\sum_{k=0}^n (n-k+1) \left\{ \frac{1}{2^k} \sum_{v=0}^k \binom{k}{v} s_v(f; x) \right\} \right] \quad (2.6)$$

of its Fourier series is given by

$$\|C_n^2E_n^1 - f\|_r = O\left\{\zeta\left(\frac{1}{n+1}\right)\right\} \quad (2.7)$$

3. Main Theorem

Theorem- If a function f be 2π periodic, Lebesgue Integral on $[-\pi, \pi]$ and belonging to $Lip\{\zeta(t), r\}$ class then the estimate error of functions (signals) f by the $(C, 2)(E, \delta)$ product means of Fourier series of f is given by

$$\|C_n^2E_n^\delta - f\|_r = O\left[(n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right)\right] \quad (3.1)$$

Provided that $\zeta(t)$ satisfies the following conditions:

$$\left\{ \int_0^{\frac{1}{n+1}} \left(\frac{t|\phi(t)|}{\zeta(t)} \right)^r dt \right\}^{1/r} = O\left(\frac{1}{(n+1)}\right) \quad (3.2)$$

and

$$\left\{ \int_{1/(n+1)}^\pi \left(\frac{t^{-\iota}|\phi(t)|}{\zeta(t)} \right)^r dt \right\}^{1/r} = O((n+1)^\delta) \quad (3.3)$$

where ι is an arbitrary positive number such that $s(1-\iota) - 1 > 0$, $\frac{1}{r} + \frac{1}{s} = 1$, $1 \leq r < \infty$. These conditions (3.2) and (3.3) hold in $C_n^2E_n^\delta$ that is $(C, 2)(E, \delta)$ means of the Fourier series.

4. Lemmas

We prove following lemmas for the proof of main theorems:

Lemma 1- $|\kappa_n(t)| = O(n+1)$; for $0 \leq t \leq \frac{1}{n+1}$.

Proof:- For $0 \leq t \leq \frac{1}{n+1}$; $\sin nt \leq n \sin t$.

$$\begin{aligned} |\kappa_n(t)| &= \frac{1}{\pi(n+1)(n+2)} \left| \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+\delta)^k} \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \frac{\sin\left(v + \frac{1}{2}\right)t}{\sin\left(\frac{t}{2}\right)} \right] \right| \\ &\leq \frac{1}{\pi(n+1)(n+2)} \left| \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+\delta)^k} \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \frac{(2v+1) \sin(t/2)}{\sin(t/2)} \right] \right| \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{\pi(n+1)(n+2)} \left| \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+\delta)^k} \sum_{v=0}^k \left\{ \binom{k}{v} \delta^{k-v} (2v+1) \right\} \right] \right| \\
&= \frac{1}{\pi(n+1)(n+2)} \left| \sum_{k=0}^n (n-k+1) \left[(2k+1) \frac{1}{(1+\delta)^k} \left\{ \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \right\} \right] \right|
\end{aligned}$$

Since $\sum_{v=0}^k \binom{k}{v} \delta^{k-v} = (1+\delta)^k$

$$\begin{aligned}
&= \frac{1}{\pi(n+1)(n+2)} \left[\sum_{k=0}^n (n-k+1) \left\{ (2k+1) \frac{1}{(1+\delta)^k} \cdot (1+\delta)^k \right\} \right] \\
&= \frac{1}{\pi(n+1)(n+2)} \left[\sum_{k=0}^n (n-k+1)(2k+1) \right] \\
&= \frac{1}{\pi(n+1)(n+2)} \sum_{k=0}^n \{(n-k+1)(2k+1)\} \\
&= \frac{1}{\pi(n+1)(n+2)} \sum_{k=0}^n \{(n+1)(2k+1) - k(2k+1)\} \\
&= \frac{(n+1)}{\pi(n+1)(n+2)} \sum_{k=0}^n (2k+1) - \frac{1}{\pi(n+1)(n+2)} \sum_{k=0}^n k(2k+1) \\
&= \frac{(n+1)}{\pi(n+1)(n+2)} \sum_{k=0}^n (2k+1) - \frac{1}{\pi(n+1)(n+2)} \left[2 \sum_{k=0}^n k^2 + \sum_{k=0}^n k \right] \\
&= \frac{(n+1)^3}{\pi(n+1)(n+2)} - \frac{1}{\pi(n+1)(n+2)} \left[2 \cdot \frac{n(n+1)(2n+1)}{6} + \frac{n(n+1)}{2} \right] \\
&= \frac{(n+1)^3}{\pi(n+1)(n+2)} - \frac{1}{\pi(n+1)(n+2)} \left\{ \frac{n(n+1)(4n+5)}{6} \right\} \\
&\approx O(n+1)
\end{aligned}$$

Lemma 2- $|\kappa_n(t)| = O\left(\frac{1}{t}\right)$; for $\frac{1}{n+1} \leq t \leq \pi$.

Proof:- For $\frac{1}{n+1} \leq t \leq \pi$; by applying Jordans lemma $\sin(t/2) \geq t/\pi$. and $\sin nt \leq 1$.

$$\begin{aligned}
|\kappa_n(t)| &= \frac{1}{\pi(n+1)(n+2)} \left| \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+\delta)^k} \sum_{v=0}^k \left\{ \binom{k}{v} \delta^{k-v} \frac{\sin\left(v + \frac{1}{2}\right)t}{\sin\left(\frac{t}{2}\right)} \right\} \right] \right| \\
&\leq \frac{1}{\pi(n+1)(n+2)} \left[\sum_{k=0}^n (n-k+1) \frac{1}{(1+\delta)^k} \sum_{v=0}^k \left\{ \binom{k}{v} \delta^{k-v} \frac{1}{t/\pi} \right\} \right] \\
&= \frac{\pi}{\pi(n+1)(n+2)t} \left[\sum_{k=0}^n (n-k+1) \left\{ \frac{1}{(1+\delta)^k} \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \right\} \right] \\
&= \frac{1}{(n+1)(n+2)t} \left[\sum_{k=0}^n (n-k+1) \left\{ \frac{1}{(1+\delta)^k} (1+\delta)^k \right\} \right]
\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{(n+1)(n+2)t} \left\{ \sum_{k=0}^n (n-k+1) \right\} \\
&= \frac{1}{(n+1)(n+2)t} \left\{ \sum_{k=0}^n (n+1) - \sum_{k=0}^n k \right\} \\
&= \frac{n+1}{(n+1)(n+2)t} \sum_{k=0}^n (1) - \frac{1}{(n+1)(n+2)t} \sum_{k=0}^n k \\
&= \frac{n(n+1)}{(n+1)(n+2)t} - \frac{n(n+1)/2}{(n+1)(n+2)t} \\
&\approx o\left(\frac{1}{t}\right)
\end{aligned}$$

5. Proof of the theorem

Following Titchmarsh [6] and using Riemann-Lebesgue theorem $s_n(f; x)n^{th}$ partial sum of the series is given by

$$s_n(f; x) - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin(n+1/2)t}{\sin t/2} dt$$

Using the (E, δ) transform of $s_n(f; x)$ is given by

$$t_n^{(E, \delta)} - f(x) = \frac{1}{2\pi} \int_0^\pi \frac{\phi(t)}{\sin(t/2)} \left\{ \frac{1}{(1+\delta)^k} \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \sin(v+1/2)t \right\} dt$$

Now denoting $(C, 2)(E, \delta)$ transformation of $s_n(f; x)$ is given by

$$\begin{aligned}
t_n^{(C, 2)(E, \delta)} - f(x) &= \frac{1}{\pi(n+1)(n+2)} \sum_{k=0}^n (n-k+1) \left[\frac{1}{(1+\delta)^k} \left\{ \sum_{v=0}^k \binom{k}{v} \delta^{k-v} \int_0^\pi \phi(t) \frac{\sin(v+1/2)t}{\sin(t/2)} dt \right\} \right] \\
&= \int_0^\pi \phi(t) \kappa_n(t) dt \\
&= \left(\int_0^{\frac{1}{n+1}} + \int_{\frac{1}{n+1}}^\pi \right) \phi(t) \kappa_n(t) dt \\
&= I_1 + I_2(\text{say})
\end{aligned}$$

We consider

$$|I_1| \leq \int_0^{1/(n+1)} |\phi(t)| |\kappa_n(t)| dt$$

Using Hölder's inequality and the fact that $\phi(t) \in Lip\{\zeta(t), r\}$ and using the lemma (1)-

$$\begin{aligned}
|I_1| &\leq \left[\int_0^{\frac{1}{n+1}} \left\{ \frac{t\phi(t)}{\zeta(t)} \right\}^r dt \right]^{\frac{1}{r}} \cdot \left[\int_0^{\frac{1}{n+1}} \left\{ \frac{\zeta(t)|\kappa_n(t)|}{t} \right\}^s dt \right]^{\frac{1}{s}} \\
&= o\left(\frac{1}{n+1}\right) \left[\int_0^{1/(n+1)} \left\{ \frac{\zeta(t)|\kappa_n(t)|}{t} \right\}^s dt \right]^{1/s}
\end{aligned}$$

$$= o\left(\frac{1}{n+1}\right) \left[\int_0^{\frac{1}{(n+1)}} \left\{ \frac{(n+1)\zeta(t)}{t} \right\}^s dt \right]^{\frac{1}{s}} \quad \text{by lemma 1.}$$

Since $\zeta(t)$ is a positive increasing function and using second mean value theorem for integrals-

$$\begin{aligned} I_1 &= o\left(\frac{1}{n+1}\right) \zeta\left(\frac{1}{n+1}\right) \left\{ \int_{\epsilon}^{1/(n+1)} \frac{1}{t^s} dt \right\}^{1/s} \\ &= o\left\{ \zeta\left(\frac{1}{n+1}\right) \right\} \left[\left\{ \frac{t^{-s+1}}{-s+1} \right\}_{\epsilon}^{\frac{1}{n+1}} \right]^{1/s} \end{aligned}$$

For some $0 \leq \epsilon \leq \frac{1}{n+1}$.

$$\begin{aligned} &= o\left\{ \zeta\left(\frac{1}{n+1}\right) \right\} \{(n+1)^{1-\frac{1}{s}}\} \\ &= o\left\{ (n+1)^{\frac{1}{r}} \zeta\left(\frac{1}{n+1}\right) \right\} \quad \text{Since } \frac{1}{r} + \frac{1}{s} = 1 \end{aligned}$$

Now consider

$$|I_2| \leq \int_{1/(n+1)}^{\pi} |\phi(t)| |\kappa_n(t)|$$

Using Hölders inequality

$$\begin{aligned} |I_2| &\leq \left[\int_{1/(n+1)}^{\pi} \left\{ \frac{t^{-l} |\phi(t)|}{\zeta(t)} \right\}^r dt \right]^{1/2} \\ &= \left[\int_{\frac{1}{(n+1)}}^{\pi} \left\{ \frac{\zeta(t) |\kappa_n(t)|}{t^{-l}} \right\}^s dt \right]^{1/s} \\ &= o\{(n+1)^l\} \left[\int_{\frac{1}{(n+1)}}^{\pi} \left\{ \frac{\zeta(t) |\kappa_n(t)|}{t^{-l}} \right\}^s dt \right]^{1/s} \\ &= o\{(n+1)^l\} \left[\int_{\frac{1}{(n+1)}}^{\pi} \left\{ \frac{\zeta(t)}{t^{1-l}} \right\}^s dt \right]^{1/s}, \text{ by lemma 2} \end{aligned}$$

Now putting $t = \frac{1}{x}$, and $dt = -\frac{1}{x^2} dx$

$$I_2 = o\{(n+1)^l\} \left[\int_{1/\pi}^{(n+1)} \left\{ \frac{\zeta(1/x)}{x^{l-1}} \right\}^s \frac{dx}{x^2} \right]^{1/s}$$

Since $\zeta(t)$ is a positive increasing function and using second mean value theorem for integrals

$$\begin{aligned} I_2 &= o\left\{ (n+1)^l \zeta\left(\frac{1}{n+1}\right) \right\} \left[\int_{\eta}^{(n+1)} \frac{dx}{x^{s(l-1)+2}} \right]^{1/s}, \quad \text{for some } 1/\pi \leq \eta \leq (n+1) \\ &= o\left\{ (n+1)^l \zeta\left(\frac{1}{n+1}\right) \right\} \left[\int_1^{(n+1)} \frac{dx}{x^{s(l-1)+2}} \right]^{1/s}, \quad \text{for some } 1/\pi \leq 1 \leq (n+1) \end{aligned}$$

$$\begin{aligned}
&= O\left\{(n+1)^t \zeta\left(\frac{1}{n+1}\right)\right\} \left[\left\{\frac{x^{s(1-t)-1}}{s(1-t)-1}\right\}_1^{n+1}\right]^{1/s} \\
&= O\left\{(n+1)^t \zeta\left(\frac{1}{n+1}\right)\right\} [(n+1)^{(1-t)-1/s}] \\
&= O\left\{\zeta\left(\frac{1}{n+1}\right)\right\} [(n+1)^{1-1/s}] \\
&= O\left\{(n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right)\right\}, \quad \text{Since } \frac{1}{r} + \frac{1}{s} = 1
\end{aligned}$$

Combining I_1 and I_2 yields-

$$|C_n^2 E_n^\delta - f| = O\left\{(n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right)\right\}$$

Now using L_r - norm, we get

$$\begin{aligned}
\|C_n^2 E_n^\delta - f\|_r &= \left\{ \int_0^{2\pi} |C_n^2 E_n^\delta - f|^r dx \right\}^{1/r} \\
&= \left[\int_0^{2\pi} \left\{ (n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right) \right\}^r dx \right]^{1/r} \\
&= \left\{ (n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right) \right\} \left\{ \left(\int_0^{2\pi} dx \right)^{1/r} \right\} \\
&= \left\{ (n+1)^{1/r} \zeta\left(\frac{1}{n+1}\right) \right\}
\end{aligned}$$

This completes the proof of the theorem.

6. Some particular cases

1. If $\zeta(t) = t^\alpha$, $0 \leq \alpha \leq 1$ then $Lip\{\zeta(t), r\}$ class $r \geq 1$, reduces to $Lip(\alpha, r)$ class, then the estimate error of function (signals) by $(C, 2)(E, \delta)$ means is given by

$$\|C_n^2 E_n^\delta - f\| = O\left(\frac{1}{n^{\alpha-1/r}}\right), \quad 1/r < \alpha < 1. \quad (6.1)$$

2. If $\delta = 1$ then the estimate error of function (signals) belonging to $Lip\{\zeta(t), r\}$ class by $(C, 2)(E, 1)$ means is given by

$$\|C_n^2 E_n^1 - f\| = O\left(n^{1/r} \zeta\left(\frac{1}{n}\right)\right). \quad (6.2)$$

3. If $r \rightarrow \infty$ in case (I), then $lip(\alpha, r)$ class reduces to the class $lip\alpha$, then the estimate error of function (signals) by $(C, 2)(E, \delta)$ means is given by

$$\|C_n^2 E_n^\delta - f\| = O\left(\frac{1}{n^\alpha}\right), \quad 0 < \alpha < 1 \quad (6.3)$$

7. Acknowledgement

The authors are grateful to Professor ShyamLal, Department of Mathematics, Institute of Science, Banaras Hindu University (BHU) for the encouragement to this work.

References

- [1] G.H. Hardy, Divergent series, Oxford University press, 1949.
- [2] H.K.Nigam and K. Sharma, Degree of approximation of a class of function by $(C, 1)(E, q)$ mean of Fourier series. IAENG International Jjournal of Applied mathematics, 41;2, IJAM-2011.

-
- [3] J.K.Kushwaha, L.Rathour, L.N.Mishra, V.N. Mishra and R.Vishwakarma, On the degree of approximation of conjugate functions using generalized Nörlund Euler summability method. *GANITA*, vol 72(2), (2022), 01-09.
 - [4] B. E. Rhoades, On the degree of approximation of functions belonging to Lipschitz class by Hausdorff means of its Fourier Series, *Tamkang J. Math.* 34(2003), no.3, 245-247.
 - [5] J.K.Kushwaha, Approximation of function by $(C, 2)(E, 1)$ product summability method of Fourier series, *Ratio mathematica*. vol.38, (2020), 341-348.
 - [6] E.C.Titchmarsh, *The Theory of functions*, Oxford University Press, 1949.
 - [7] Lal and Singh, Degree of approximation of conjugate of $Lip(\alpha, p)$ function by $(C, 1)(E, 1)$ means of conjugate series of a Fourier series, *Tamkang Journal of Mathematics*, Vol.33, No.1(2002), 13-26.
 - [8] S.Lal, Approximation of functions belonging to the generalized Lipschitz class by (C^1, N_p) summability method of Fourier series, *Applied Mathematics and Computation* 209 (2009).
 - [9] B.N.Sahney and D.S.Goel, On the degree of approximation of functions belonging to Lipschitz class by Hausdorff means of its Fourier series, *Tamkang J.Math.Jour*, 4(2003), 245-247.
 - [10] K.Qureshi, On the degree of approximation of a function belonging to weighted $W(\xi(t), r)$ class, *Indian J.pure.Appi.Math.* 13(1982), 898-903.
 - [11] L.N.Mishra, V.N.Mishra and V.Sonavane, Trigonometric approximation of functions belonging to Lipschitz class by matrix (C^1, N_p) operator of conjugate series of Fourier series, *Advances in Difference Equations* (2013) 2013:127.
 - [12] K.Qureshi, On the degree of approximation of a function belonging to the class $Lip\alpha$, *Indian J.pure.Appi.Math.* 13 No.8(1982), 898-903.
 - [13] V.N.Mishra, K.Khatr and L.N. Mishra, Product (N_p, C^1) summability of a sequence of Fourier coefficients, *Mathematical Sciences - a Springer Open Access Journal*, (2012), 6:38.
 - [14] V.N Mishra, K.Khatr and L.N.Mishra, Approximation of functions belonging to the generalized Lipschitz Class by $C^1.N_p$ Summability Method of Conjugate Series, *Mathematicki Vesnik*, 66 2 (2014), 155-164.
 - [15] H. K.Nigam, A study on approximation of Conjugate of functions belonging to Lipschitz class and generalized Lipschitz class by product means of conjugate series of Fourier series, *Thai J. math.* 10(2012), no.2, 275-287.
 - [16] H.K.Nigam and K.Sharma, Approximation of Conjugate functions belonging to $Lip(\alpha, r)$ class and to weighted $W(L_r, \xi(t))$ class by product means of conjugate Fourier series, *Eur. J. Pure Appl. Math.* 3(2011), 276-286.
 - [17] K. Qureshi and H.K.Neha, A class of functions and their degree of approximation, *Ganita*, 41 No.1 (1990), 37-42.
 - [18] U ĞUR DEGER, HILAL BAYINDIR, On Trigonometric Approximation by Deferred-Nörlund $D_a^b.N_p$ Product Means in Lipschitz Class, - *Journal of Mathematical Analysis*, vol.8, (2017), 70-78.
 - [19] A. Zygmund, *Trigonometric Series*, 2nd edn., vol.1. Cambridge University Press, Cambridge, (1959).
 - [20] László Leindler, "Trigonometric approximation of functions in L_p norm" *J.Math. Anal Appl.* 302(2005).